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Sottrai Decimali

Nome:

Risolvi ogni problema.

1) 90,775-21,223=

2) 4816+ 123=

3) 28,034+ 16,3=

4) 47,3-33,070=

5) 87,5-7818=

6) 30,95+ 14,797 =

7) 46,23+ 29,61 =

8) 259-1813=

9 60,4+1052=

10) 39,30+ 0,46 =

11) 34,157-30,1=

12) 29,08-19,9 =

Risposte

10.

11

12.
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Sottrai Decimali Nome: Soluzioni
Risolvi ogni problema. Risposte
1) 90,775-21,223 = 69,552
1 69,552
2. 60,46
2) 48,16+123= 60,46
3. 44,334
3) 28,034+16,3= 44,334 4. 14,23
5, 9,32
4) 47,3-33070= 14,23
6. 45,747
7. 75,84
5) 87,5-78,18= 9,32
8. 24,087
6) 30,95+ 14,797 = 45,747 0. 70,92
10. 39,76
7) 46,23+ 29,61 = 75,84
11, 4,057
12 9,18
8) 259-1813= 24,087
9) 60,4+ 10,52= 70,92
10) 39,30+ 0,46 = 39,76
11) 34,157-30,1= 4,057
12) 29,08-19,9= 9,18
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Sottrai Decimali Nome;
Risolvi ogni problema. Risposte
70,92 75,84 45,747 39,76
9,32 24,087 14,23 44,334 1.
60,46 69,552

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

90,775 - 21,223 =

48,16 + 12,3 =

28,034 + 16,3 =

47,3-33,0710=

87,5-78,18 =

30,95 + 14,797 =

46,23 + 29,61 =

259-1813=

60,4 + 10,52 =

39,30+ 0,46 =

10.

Semplificato
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